> A
A & 0l & AF 2 E A A
2015 = 20la LB H  IIEISERH, S HSE3H &
SN BAFYY
Mo COALE
Sl BREARIYRE CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SAF MY 53,386,383 50,682,404 2,703,979
= 11,811,241
X 1,091,000
J| 26,615,178
< 13,868,964
coALSA 53,093,801 50,400, 882 2,692,919
= 11,811,241
X 1,091,000
J| 26,586,934
=) 13,604,626
SEEHYZI VB2 S 10,470,536 15,841,723 A5,371,187
= 5,385,893
J| 959,000
= 4,125,643
SHE BHAS AHHIA A ALY 2,500,000 6,518,537 A4,018,537
= 2,000,000
< 500,000
403 Ut SHHSA=0l& 2,500,000 6,518,537 A4,018,537
= 2,000,000
< 500,000
01 XM= LE L 2,500,000 6,518,537 A4,018,537
OsHEBHAZ MHIAMEALS 2,500,000
= 2,000,000
< 500,000
SEANXNY ALHETAEEH &5 1,198,750 0 1,198,750
J| 959,000
< 239,750
403 XSS =0l & 1,198,750 0 1,198,750
J| 959,000
= 239,750
01 X SHMA2E X 1,198,750 0 1,198,750
OZAXY AZHEXNAEEH &= 1,198,750
J| 959,000
< 239,750
AL S JIsEst 1,520,000 3,340,000 A 1,820,000
= 760,000
= 760,000
402 RI2HXt20l 1,520,000 3,340,000 A 1,820,000
= 760,000
< 760,000
01 22t t= AP E & 1,520,000 3,340,000 A 1,820,000
O3=2zd ZJUHIEZ 1,280,000
= 640,000
< 640,000
OsFoz g FHEZ 240,000
= 120,000
= 120,000




SH: BAEMY
HM: TOIHUSE
Sl BREARIYRE CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
ESFogd ANEAd= 5,251,786 5,251,786 0
= 2,625,893
= 2,625,893
201 LBt | 5,251,786 5,251,786 0
= 2,625,893
& 2,625,893
01 AP 22| d| 5,251,786 5,251,786 0
OsFo22 AU 5,251,786
= 2,625,893
o= 2,625,893
A2AME AN MEG 15,497,200 14,037,966 1,459,234
= 281,540
N 1,091,000
J| 11,011,811
= 3,112,849
KNGAE SEHLSTAIY 7,820,152 6,133,831 1,686,321
J| 6,460,955
= 1,359,197
201 et | 3,516 10,000 ANB,484
J| 1,758
= 1,758
01 AP 2t 2] H| 3,516 10,000 AN6,484
Ogtt4f2Y| 3,516
J| 1,758
& 1,758
202 04| 8,000 6,000 2,000
Dl 4,000
= 4,000
01 2Ll 8,000 6,000 2,000
OSEAHLSEIAY =X 8,000
J| 4,000
=} 4,000
303 ZA 2 2,000 2,000 0
J| 1,000
& 1,000
01 ZAZ 2,000 2,000 0
OSEHHLSIAIY =& T A2 2,000
J| 1,000
== 1,000
307 212t0| & 97,000 92,000 5,000
9 48,500
o= 48,500
02 DIZEEAAIRE E X 97,000 92,000 5,000
OAHLSTANE XS 2A 97,000
p] 48,500
= 48,500




SH: BAEMY
HM: TOIHUSE
ol AYME AF MHF CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@i HRE2
308 XHXIGH SO0l & 7,709,636 6,023,831 1,685,805
J| 6,405,697
& 1,303,939
01 AIKISHHENEXZ 7,709,636 6,023,831 1,685,805
OFEQ=s E=0E)| DXNES 2A 57,000
D] 28,500
o= 28,500
O2II2H X Al A 1,605,397
J| 1,337,831
= 267,566
OANZ SEHLSE AFSH] 6,047,239
J| 5,039,366
= 1,007,873
ALO0F AFEOIEE A4 22 754,500 781,100 A 26,600
J| 503,000
= 251,500
308 MXISHMSOIA 754,500 781,100 A 26,600
J| 503,000
& 251,500
01 IXHAHIMNEEXTZ 754,500 781,100 A 26,600
O 0ls=s0F & AdAH0|A0F Q2 HI XS 459,000
J| 306,000
& 153,000
O SEHUHAIOIA 2 A & &tor2tel 270,000
J| 180,000
o= 90,000
O AMOF 28 HA 25,500
J| 17,000
& 8,500
DUE2AHAS 1,711,200 1,424,781 286,419
J| 1,140,800
= 570,400
308 XHXIEHSOIA 1,711,200 1,424,781 286,419
J| 1,140,800
= 570,400
01 AIXSHMENMNEX= 1,711,200 1,424,781 286,419
O Haeexa 1,662,300
J| 1,108,200
=} 554,100
O HAUEARD AANMESA OIS HI A 39,600
J| 26,400
& 13,200
Oz 2XNE2AHA+=E M 9,300
J| 6,200
= 3,100
ADAMOIA 2RI A IR ALY 1,091,000 991,240 99,760
N 1,091,000




SN BAR Y
Mo COALE
S AZME AN MEF (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
201 et A | 11,100 7,500 3,600
Xl 11,100
01 At 22l ] 11,100 7,500 3,600
OMsegE W=t 11,100
Xl 11,100
308 XX SHHSOIH 1,079,900 983,740 96, 160
Xl 1,079,900
01 AIXHMBAEXZ 1,079,900 983,740 96, 160
O/t2 A MOotAH 222 A X & 1,079,900
Xl 1,079,900
0P Dt= Ao 150,000 48,000 102,000
= 100,000
= 50,000
308 AXISHXMSOoIHA 150,000 0 150,000
= 100,000
= 50,000
01 HXHNBMNEXTZ 150,000 0 150,000
OO0t MR 29 150,000
= 100,000
o= 50,000
=Jt &r2te| At 1,716,044 1,808,044 A 92,000
Dl 1,276,957
& 439,087
307 QI2t0| & 160,000 160,000 0
Jl 80,000
& 80,000
02 DI2tF AAH E X 160,000 160,000 0
OXSSHE 22| A 160,000
J| 80,000
= 80,000
308 XHX| EHAHIS 0 & 1,556,044 1,648,044 £A92,000
J| 1,196,957
o= 359,087
01 AXHNBMNEXZ 1,556,044 1,648,044 A 92,000
o ZJ|H&A 707,132
Dl 543,948
& 163, 184
OLEX o= H K& 749,800
J| 576,769
= 173,031
OAstIt XANEALE 99,112
Dl 76,240
& 22,872
JABZCLZAR AL AT 192,821 192,821 0
= 181,540




PA: BAZ Y
Mo COALE
Helr AZdE Ay M5 (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
= 11,281
201 et 31,120 0 31,120
= 31,120
01 ArR2telHl 31,120 0 31,120
O g R = 31,120
= 31,120
308 MXIEHSOIH 161,701 161,701 0
= 150,420
< 11,281
01 HXNHHBHEELS 161,701 161,701 0
Oz AZF A ALY 161,701
= 150,420
=) 11,281
R0t AZH A 53,569 74,713 A21,144
J| 49,832
=) 3,737
308 XAXIEHHSOIA 53,569 74,713 A21,144
J| 49,832
=) 3,737
01 AXHHBLEES 53,569 74,713 A21,144
Odgot A28 53,569
J| 49,832
< 3,737
MO S| AZBAX 37,842 34,976 2,866
J| 37,842
308 XXIEHHSOIA 37,842 34,976 2,866
J| 37,842
01 AXHHILEES 37,842 34,976 2,866
OMofd el A2H& 37,842
J| 37,842
Lol X (SU)AY 312,764 633,391 A 320,627
J| 240,588
< 72,176
308 MtXIEHMSOIH 312,764 633,391 A 320,627
J| 240,588
< 72,176
01 HXNHHBHELS 312,764 633,391 A 320,627
OLQl X (ELAL 312,764
J| 240,588
=) 72,176
T g2 E gAY 100,000 200,000 A 100,000
J| 50,000
=) 50,000
202 04l 2,000 1,000 1,000
J| 1,000




SH: BAEMY
Mo COALE
A2 ME AN MES} )
SN FE - EA(SA) - MRAY - BES il Bl RE2
< 1,000
01 SLHOYI 2,000 1,000 1,000
OdargaTeE oled2eIMng =8 2,000
Jl 1,000
< 1,000
303 Z& = 1,400 1,400 0
J| 700
< 700
01 243 1,400 1,400 0
Odogdazde gzl I X4 1,400
J| 700
< 700
307 glz2+ol & 96,600 197,600 A 101,000
J| 48,300
< 48,300
02 HAFHAANGFEE 96,600 197,600 A 101,000
Odgaza LA NIH2 I 96,600
J| 48,300
< 48,300
AL gaEE oflg2el 8200 (FMTP) 21,000 17,550 3,450
J| 21,000
308 MXIEHMSOIH 21,000 17,550 3,450
J| 21,000
01 HXNHHBHELS 21,000 17,550 3,450
OFNTP #2018 = 21,000
J| 21,000
2= =3I A K& 14,400 14,400 0
308 AHXIEHHSOIA 14,400 14,400 0
01 HIXNHHNBMNELS 14,400 14,400 0
OZdsY =30t dAHl XN& 14,400
XIS AS] 22 E AL 308,099 307,919 £ 4,820
J| 303,099
308 XXM SO0 A 303,099 307,919 N4,820
J| 303,099
01 IXNHHBMNEES 303,099 307,919 A 4,820
OAZ XA AZ XA} 303,099
J| 303,099
KNSAS A2 AL SH I g2t 9,000 8,000 1,000
307 21201 A 9,000 8,000 1,000
05 RIZt2IEt = 9,000 8,000 1,000
OXHAE A2 ZAL SHHR &2t 9,000
SAUXLTET 2 BYIX 2 206,059 1,363,450 A 157,391
J| 927,738




2N
X ZH -
L= B

el

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
[ 278,321
308 XAXIGHHM SO0l & 1,206,059 1,363,450 A 157,391
J| 927,738
& 278,321
01 IXHHIMNEXTZ 1,206,059 1,363,450 A 157,391
O HUXHEEX 2 SHI XA 1,206,059
J| 927,738
& 278,321
& H B K& 3,750 3,750 0
308 AMXISHMSOIA 3,750 3,750 0]
01 AIXSHMEMNEXZ 3,750 3,750 0
OXHE X X 3,750
BAHo S Ul A A 4,611,829 5,533,525 A 921,696
= 464,000
J| 3,213,442
= 934,387
BAHAHRF=X 11,200 11,200 0
201 gBt2Ay| 10,000 10,000 0
01 AP 22| H| 10,000 10,000 0
OgerH A= 2Y| 10,000
203 € R F=&d| 1,200 1,200 0
03 AIEH =X 2 F X Y| 1,200 1,200 0
OBAHYRF=A 1,200
EEEHYAMNANR2NR 21,000 20,840 160
201 et 9| 21,000 20,840 160
01 AR 22l ] 21,000 20,840 160
OZ2EEHYANE RN =S 21,000
Z2E82HOA =4 22Xt 4,560 4,560 0
201 et d9d| 4,560 4,560 0
01 A2t 2| bl 4,560 4,560 0
OZ2ZE22HYA =4 2z 4,560
Bxig MIFBL2H EL10R 9,360 9,480 A 120
308 XHXIEH SOl A 9,360 9,480 A 120
01 AIXISHHEMNEX= 9,360 9,480 A 120
OBizg N2 B4R 9,360
BAHIRZ A 8x0ola & 144,634 146,860 N2,226
308 XAHXIGHH SO0l & 144,634 146,860 N2,226
01 HXHHIMNEXS 144,634 146,860 N2,226
OBHAZA BX0oaE 1 144,634




M BAFH Y
Mo COALE
Sl BAOADMHIA A EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
sz LHd I NS 23| 960,000 1,006,000 A 46,000
J| 960,000
307 glz2tol & 960,000 1,006,000 A 46,000
J| 960,000
02 It MAHEE 960,000 1,006,000 A 46,000
Oszgzla gdZ= g 29| 960,000
J| 960,000
llsssSmtaeesd s 29 6,000 6,000 0
403 MHXISHHE =01 6,000 6,000 0
02 I 2SO0 CHEHCHE AL Bl 6,000 6,000 0
O0l=2sit2elzd s 29| 6,000
X & SSHAuU= 66,500 38,000 28,500
J| 33,250
< 33,250
307 21201 A 66,500 38,000 28,500
J| 33,250
< 33,250
02 IS AHE L 66,500 38,000 28,500
o= & E2xXdIu=E 66,500
J| 33,250
< 33,250
SSA2EHH2 I A 149,600 142,000 7,600
p] 74,800
< 74,800
307 g1+l & 149,600 142,000 7,600
J| 74,800
< 74,800
02 It M AHEE 149,600 142,000 7,600
Oss29z2324dH 294 XA 149,600
Il 74,800
< 74,800
A2 OMATZ & 26,000 19,500 6,500
J| 18,200
< 7,800
201 Let2d] 7,000 6,500 500
J| 4,900
< 2,100
01 At 22l 7,000 6,500 500
OXI < CH2(DMAT W= 7,000
J| 4,900
< 2,100
308 AHAIEHHSOIA 19,000 13,000 6,000
J| 13,300
< 5,700




2N
X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET

01 IXNHHBANEES 19,000 13,000 6,000
OXI S CH2DMAT 2Z X & 19,000
J| 13,300
< 5,700

SSAZ I HTRSAIAE 2 H 123,210 123,210 0
J| 86,247
< 36,963

402 RI2EXt20l 123,210 123,210 0
J| 86,247
= 36,963

01 22t t= AP E XL 123,210 123,210 0
o2& s RHES=E8S8Y 7= 123,210
J| 86,247
< 36,963

HAXN S22/ 22X 2,032,000 2,032,000 0
J| 2,032,000

307 glz2tol & 2,032,000 2,032,000 0
J| 2,032,000

02 IZtE M AHEE 2,032,000 2,032,000 0
OF X 892012 22XH 2,032,000
J| 2,032,000

HASS 2EMHA X2 AY 146,800 146,765 35

307 glz2+ol & 146,800 146,765 35

02 HAFHAANHEEE 146,800 146,765 35
OMASE HEABIA NEAY 146,800

FEOFF X KE ALY 560,000 400,000 160,000
= 350,000
= 210,000

308 XtXIEHHSOIA 560,000 400,000 160,000
= 350,000
< 210,000

01 X HHBLEES 560,000 400,000 160,000
SEHF X X3 ALY 560,000
= 350,000
= 210,000

=oz2EzXN L =k S ASMHMEIAXR 20,000 30,000 A 10,000
= 14,000
< 6,000

307 ©12+0I & 20,000 30,000 ~10,000
= 14,000
< 6,000

01 22272l 20,000 30,000 A 10,000
OL=e221 & ==X S A= MHHA X 20,000
= 14,000




<

n0

Kio

Hl w

A 145

A500
A 500
355

355

20,100

A 23,100

1,900

A 25,000

3,000
3,000

150,000

150,000

150,000

1,019,900

H3r
Wikd
RIS

9,090

1,000
1,000
8,090

8,090

192,120

99,000
20,000

9,000

70,000

93, 120
93,120

8,361,221

Off &t 24

H

6,000
8,945
8,945

500
500

500

500

500
8,445
8,445
8,445
8,445
8,445
172,020

Il
Jl
J|
Il

Il

75,900

20,000
20,000

10,900
10,900
45,000
45,000

3,000
3,000
3,000

93,120
93,120
78,120

15,000

150,000
100,000
50,000

i

H

150,000
100,000

50,000
150,000
150,000
100,000

50,000

9,381

fi

H

fi

H

121

5,504,748
1,931,925

1,944,448
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i
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=]

Ol

Xl
&

H 2kD1et

02 H HT
= rery
HTry ox
Yoy 2

o
O

>

o
SN P SA(EN) - MBAY - BES e HlDE2

ZAFMALBAULEEH 29 800,800 768,800 32,000
9] 416,400
< 384,400

307 glz2tol & 800,800 768,800 32,000
J| 416,400
< 384,400

05 RIZteE = 800,800 768,800 32,000
OZAFMALSNHE 2 768,800
Il 384,400
= 384,400
OMIIESXNESRE A2 SA 32,000
J| 32,000

FAAZSHEH 299 ,344,000 1,232,000 112,000
J| 960,000
= 384,000

308 X EHSOIA ,344,000 1,232,000 112,000
J| 960,000
< 384,000

01 HXNHHNBMNEES ,344,000 1,232,000 112,000
OFUAHLSIME 23 ,344,000
J| 960,000
< 384,000

S=2c SENAEH 29 91,682 87,815 3,867
J| 70,525
< 21,157

308 XXM SOl A 91,682 87,815 3,867
J| 70,525
< 21,157

01 X HHIYEES 91,682 87,815 3,867
Osszc sSgiNddy 299 91,682
J| 70,525
< 21,157

OISHAEFABHAY 550,000 400,000 150,000
J| 275,000
< 275,000

308 MXIEHSOIH 550,000 400,000 150,000
J| 275,000
= 275,000

01 HXNHHBHELS 550,000 400,000 150,000
O0tsEad FAEAAMY 550,000
J| 275,000
< 275,000

aoe & HAALSIAY 273,000 273,000 0
J| 210,000
< 63,000




SN BAR Y
Mo COALE
&2 FABAMAIES (&)
SA - BB B () - MM - BES Ol &t o San HmEET
308 XXM SO0l A 273,000 273,000 0
J| 210,000
< 63,000
01 IXNHHBNEES 273,000 273,000 0
OX&0Y & FAAY SEAY 273,000
J| 210,000
< 63,000
FAUEEAS=EHANEISEZ 12,930 143,400 A 130,470
= 12,930
403 XIS EA=201 & 12,930 143,400 A 130,470
= 12,930
01 XXM 22 = 12,930 143,400 A~ 130,470
OFuEE ASIESHAE JIsE2S 12,930
= 12,930
HAURAANLE2S 6,210,328 5,254,635 955,693
= 5,434,037
< 776,291
308 AHXIEHHSOIA 6,210,328 5,254,635 955,693
= 5,434,037
< 776,291
01 HIXNHHNBMNEES 6,210,328 5,254,635 955,693
OFURLANE 29 6,210,328
= 5,434,037
< 776,291
FAHSAIS SEHNAE2Y(01) 40,600 195,571 A 154,971
308 XXM SOl A 40,600 195,571 A 154,971
01 IXNHHBNEES 40,600 195,571 A 154,971
OFLEE MII=SHAE 2L (01Y) 40,600
UL JIs2S 57,781 0 57,781
= 57,781
403 XSS X201 & 57,781 0 57,781
= 57,781
01 X SHHAN2E = 57,781 0 57,781
OBUQYANE JIsEH 57,781
= 57,781
dZHuLes2s 13,133,115 6,626,447 6,506,668
= 175,060
Jl| 9,470,756
< 3,487,299
A X ALBH 2 1,000 1,000 0
301 LAz 1,000 1,000 0
1MIIEES S 1,000 1,000 0
ONs T ALBIRI (212 B4 1,000




SN BAR Y
Mo COALE
& ZEgugasdsE (&)
SA - BB B () - MM - BES Ol &t o San HmEET
ZEEE AStZ A 4,110 3,800 310
= 4,110
201 L2l 910 800 110
= 910
01 At 2t 2l 910 800 110
Ogstx A2t A2 =H| 910
= 910
202 oddl 3,200 3,000 200
= 3,200
01 = LH 4 1l 3,200 3,000 200
Ods A2t EE 0| 3,200
= 3,200
ZEEME2I W= 52,380 48,888 3,492
= 52,380
201 £B-2dH| 3,492 3,492 0
= 3,492
01 At 22l 3,492 3,492 0
OZgd d20 1= 3,492
= 3,492
308 XXM SO0l A 48,888 45,396 3,492
= 48,888
01 IXNHHBANEES 48,888 45,396 3,492
OoZgd d=2J U= 48,888
= 48,888
FTRIGHI2LAAMY 37,680 25,432 12,248
= 20,660
< 17,020
101 @124l 15,592 15,592 0
= 7,796
< 7,796
04 D12t 22 HEE = 15,592 15,592 0
OZZgZAERQH 2 15,592
= 7,796
< 7,796
301 L2 4= 18,448 6,480 11,968
= 9,224
< 9,224
1M1IIEBEAS 18,448 6,480 11,968
T2y Z22AAMd 18,448
= 9,224
= 9,224
308 XX EHHSOIA 3,640 3,360 280
= 3,640
01 AXHHILEES 3,640 3,360 280




(] o o o o o o o o o o o o o
o o o o o (@)
(o)) (e)] (o)) [e6) o) <
A0 < — =
< <
Klo
E|
E=]
o o (@) o o o o o o o o o o o
Yo Lo Lo o o o o o o (] (e} <t Q Q
[a\] [a\] (V) o o o [ — — [¢e) © (<o) [e6] [e]
o o o Ny Ny NG — ) o ) ) o — —
Yo [ve] Yo — — — —
H3r
uilEd
k=S
o O o O o O o o O o o O o O O o o o o o o O o O O o o O O o O O o o o O o O O o O O o o O
< < [YolumTel L w0 Y] Yool o O O o O O o o O O o O O o O O o o O O o O O o o O O < A Al 0 < < (o) QO <
© O ANl dd ddlSODH|EmB|S ©MH| o IF|C0NE DN XIPIND D IP|NO OO|XR ND | XD
o ™ D D D D D [e)ENe)) N~ OO ™M N~ O ™M N~ M~ o0 ™M o 1 v o << [e)] (o2 TR A N — — — <t N~ N~ — 0 w0 — — w0
0 w0 0N W |w 0 W — — — — —
aor
<
=
M =~ =~ ~ W U W =~ U ~ WH ~ U ~ W =~ U ~ W ~ W =~
ar ulo
0 R
BJ = -
. O D
iy 30
M 1 0 50
- _ N 0H
L - |s i Al A _
T o = | R e N =
. ~0 = = 0l =< L =3
ol E._ ™3 [l - =0 110y —
= |z b i ol - . 70 <
= |=< Ky I 2 - — oll A0
" — ol =1 nJ - e K
ol wﬁ < % M & uo = 7 ol 0 o K0
i % S ER o T o = ~ mm o ©
) o ujo RO = oo " - - o ro m = = = T
4 = = w0 &l 1) 8 B0 T O 2 20 % 2 T
- |® 30 X Y : 50 ) ok 30 Ew 0H A8 H H =) =) R0 O
® | A0 3 = ol 30 ~ Ao iy o o O o) o ol = A RYRE!
kK0 |O o =3 = O A0 al a1 O < oll =< O ol ~ O i} al al O
o 7 © — N~ = Ulo = = = = T & o
o= n & e I I e % & e S o & e
o+ o1 = 5 20




2N
X ZH -
L= B

el

h
=

0¥ H HE
08 e ry
0F ¥ o

0% J
0% oY &
[l pal

=2

S st

SN EB S (3H) - NEAY - BES ofl &k o San HDE2
& 5,940
308 X SHAMSOIH 2,160 0 2,160
Jl 1,080
== 1,080
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